The price equation for a firm with positive growth opportunities is 



P0 = x0 + NPVGO


          R                               

Where P0 is the current stock price, X0 is current reported earnings per share, r is the cost of equity capital, and NPVGO is the net present value of future growth opportunities.  The recent values of P0, X0, and r for several companies are:

	
	P0
	X0
	R

	Dell Computer
	$26.74
	$0.82
	0.138

	eBay
	67.82
	0.82
	0.198

	Form Motor
	9.30
	0.99
	0.114

	Home Depot
	24.02
	1.55
	0.121

	Wal-Mart
	50.51
	1.83
	0.090


Required:

1. Why does eBay have a higher cost of equity capital ( r ) than does Wal-Mart?

2. Compute NPVGO for each company.

3. Why is the NPVGO of eBay larger than that for Home Depot?

4. Why does Ford Motor and Wal-Mart have such different NPVGO amounts?

